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Downingtown High School
East/West
Keystone Algebra 1 Review
Module 2
Data Analysis




1. Maria is completing a survey to use for a project in her statistics class. She went to two

local stores and asked 10 randomly selected patrons {o give their ages. The data she
collected is shown below.

Store 1]42 302526139 @)15 60{30/39| nearle =320
Store 2{75]59|67|89168({7975]67]85}91| vusele =TS

_ _ 74 -30 240
How does the mode of Maria's data at Store 1 differ from the mode at Store 27

A. The mode of Maria's data at Store 1 is less than the mode at Store 2 by 28.

B. The mode of Maria's data at Store 1 is greater than the mode at Store 2 by 28.
OT he mode of Maria's data at Store 1 is less than the mode at Store 2 by 49,

D. The mode of Maria's data at Store 1 is greater than the mode at Store 2 by 49.

2. Michael and Stanley both work for the same company in sales. Their supervisor
announced that the salesperson with the highest cumulative sales numbers over the last six

months will receive a bonus. Below is a table showing the worth of the goods sold by Michael
and Stanley for each of the last six months.

March April May June July August
Michael |$57,809.00$64,421.00369,398.00$59,100.00 | $55,688.00 | $46,339.00
Stanley |$47,156.00]$56,373.00 1 $53,596.00{%61,524.00$54,804.00|$58,586.00

How does the range of Michael's sales num befr's compare to the rénge of Stanley"s sales
numbers?

The range of Michael's sales numbers is greater than the range of Stanley's sales
" numbers by $5,677.00.

("' The range of Michael's sales numbers is greater than the range of Stanley's sales
K__}numbers by $8,691.00.

C. The range of Michael's sales numbers is less than the range of Stanley's sa!es numbers
by $8,691.00.

D The range of Michael's sales numbers is less than the range of Stanley's sales numbers
" by $8,883.00.

L3398 — 423y = 6rs2sf — 45, T




3. A company conducted a survey of 8,225 people to find out the fastest speed they have
driven in certain cities. Based on the table below, what is the difference between sample's
interquartile range and the population's interquartile range?

Name  {Minimum 1% Quartile 2" Quartile [3" Quartile [Maximum
|Atlanta | 70 | 84 | 90 | 103 | 112
lAthens . 69 | 78 | o5 | 107 | 114
iChickamauga! 75 | 80 | 86 97 | 105
! ] 1 A i . . v
IGray |75 87 | 86 109 119
! i 0o ) t . : ,
Populaton | 68 | 74 . 94 | 111 | 127
A. There is a difference of 19.6. TR . . o
T ) ' - WAL Chdd, . wim;%wm 7y 18
B. There is a difference of 12.25. Aok 103 %% = 19 ¥
@There is a difference of 15.25. Arttons T -5 7 24

D. There is a difference of 18.25. Clhites. > o —gu = {7
G‘\MI oo - &% 7 AL

MW’Z iy =14 = 3%

4. Mr. and Mrs. Nelson have decided they are going o send their son, Christopher, fo a
private high school. They will make their decision based on a rating system where 1 point is
the lowest score a school can receive and 20 points is the highest. Below are the ratings
received by the schools over a five-year pericd.

"3 7} -2 iy B g 16. 28

200220032004 |2005|2C06 Lo
Sunlight Academy| 12 | 11 | 14 | 13 | 10. TREAMA = e = 1
Shadow Ridge o . & i
Preparatory 1? TR0 ] wese = _,%mwii%
Based on the mean of the ratings, which school should the Nelsons choose and why? LA A2

A. Sunlight Academy, because its mean rating is 2 points higher.
B. Shadow Ridge Preparatory, because its mean rating is 3 points higher.
@hadow Ridge Preparatory, because its mean rating is 2 points higher.

D. Sunlight Academy, because its mean rating is 3 points higher. -



5. The school is conducting a survey to determine the relationship between the outside
temperature and the number of students who eat funch in the outside commons. The
information is in the chart beiow.

Temperature | Number of
] (°F) I Students
| 57 ! 44
| 65 | 92
| 66 | 361
| 87 | 176
L i 124
|7 881
| 91 I 204

What is the approximate mean of the temperatures?
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6. 46, 51, 54, 58, 64,70, 74, 74, 69, 60, 52, 46

Which of the box-and-whisker plots below represents the data set above?

45 50 55 60 65 70 75 45 50 55 60 65 70 75

— T T

Sy -] Gpo——p —th L o—u

T T T

g S R e e e

Y €6 St 52 sy s¥leo (4 69 70 7Y 7Y |

S g e v N Ccatte
i bgu} g% éqig“ww?
oy Q2 X

-



7. The following stem-and-leaf plot shows the number of people that attended the preseason
basketball games.
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What is the mean of the data given above?
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8. The towns of Rockface and Lakefront have been tracking their annual rainfall. The average
monthly rainfall for both towns over the previous year is shown in the following line graph.

Annual Rainfall
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Using the graph, predict during which of the following months Lakefront will have the greater
cumulative rainfall for the year.
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8. The following line plot shows the number of donations received during a charity drive.
What is the median of the data in the graph?
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A company made & bar graph showing the amount of sales for each month in thousands of
dollars. Which of the following is closest to the range of sales for the four-morith period?
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11. When helping her little sister with her homework, Monique picked some products
randomly from the multiplication chart. The products are represented by the box plot below.

ez,,é“'fi Multiplication Tables 5%
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What percent of the data is below 367

A.25%
B. 50%
C.75%
D. 36%

12. A travel agent made the given circle graph. The Vacation Destinations

graph divides up the destinations that clients chose
for the previous year into 5 categories. The agency is Carbbean
expecting to service 800 clients this year. Using the B g
circle graph, predict the number of those clients who

will choose the Caribbean as their vacation destination.
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13. The population of a certain species is Population of Species

declining rapidly. Use the graph to predict the 2,000 9

population in 2015. . gm\i\
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14. A group of band instructors answered & survey 39 l /""JIF
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15. Kayla has a standard deck of 52 cards and a six-sided die. What is the probability that
she will pull a diamond from the deck of cards and roli a 27
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16. Marli has one bag of different colored, same-size chips. There are 4 blue chips, 5 red
chips, and 3 black chips. What is the probability that she will pull a biue chip and without
replacement pull another blue chip?
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17. Katie is trick or treating. The man answering the door holds out two bags. in cne bag,
there are 3 bars of dark chocolate and 1 bar of white chocolate. In the other bag, there are 3
pieces of strawberry licorice, 1 piece of cherry licorice, and 1 piece of orange licorice. If Katie
gets to randomly draw one piece of candy from each bag, what is the probability that she will
get a bar of dark chocolate and a piece of cherry licorice?

5 bag 2
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18. An experiment consists of rolling two fair dice and
adding the dots on the two sides facing up. What is the
probability that the sum of the dots is 6 or 87

"

5 & -2 -

&)

2 2 T B P 4
B.3
i {
1 s 9%
C.3 >
1
D.§

19. The following balls are placed in an urn: 5 red, 6 yellow, 3 blue, and 3 green. One ball is
randomly drawn from the urn. What is the probability that the ball is either yellow or green?
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20. Bobby is taking a multiple-cheice history test. He has decided to randomly guess on the
first two questions. On each question there are 4 answer choices. What is the probability that
he answers the first question correctly and the second question correctly?
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9% . The lengths, in minutes, of the movies in Raul’'s DVD collection are
ay shown in the stem-and-leaf plot below.
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et A. What is the interquartile range of the movie lengths?
22 — 104 =
interquartile range: pRe, _ minutes
{ 3& j B. Raul wants to know the mean length of the shbrtest 25% of his
343 ; movies. What is the mean length of the shortest 25% of the
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Raul bought 4 new movies with lengths of 126, 116, 104, and
134 minutes. Find the new interquartile range and the new
mean length of the shortest 25% of the movies.
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Constructed Response Review — Data Analysis

Read the problem. Write your answer for each part.

1. The box-and-whisker plot below represents the number of days students were absent from
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A. What is the range of the scores?

2% -0 = X

. What is the interquartile range?

o — b= 10

. Ifthe plot represents 84 students, about how many were absent for more than 16 days?
6% ane v e
oS o
50 (5P)(25) = 2|

. Explain how you know that half of the class missed at most 10 days.

e d = Q7T 7o



Constructed Response Review — Data Analysis
Read the problem. Write your answer for each part.

2. Chase’s test scores for the 3™ marking period are shown below. His mezn score after all five
tests was 81. '

Chase’s Test Scores
Tast 1 2 3 4 5
Score 80 76 g2 24 ?

A. What was Chase’s score for the 5 test?
So +776 “%“Ci”l%?"'% X % 2324 %

B. What was Chase’s median score for the 5 tests?

1 ”“"fé};@w Vi

C. Chase took a sixth test and his median score changed to 79. What was his score on the sixth
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